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If the price of fuel is increased bf its original price. How much the

consumption of fuel needs to be decreased by a factory owner so that the
expense on fuel remains same?
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al 15 Sfpid H, ABCD Udh JHIGR Iqysl g foRIH ~DCB = 85° 3R ~ADB = 55° &,

dl 2ABD SRIeR B
In the given figure, ABCD is a parallelogram in which £DCB = 83° and £ADB =

ythen, 2ABD is equal to:
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A man edrng 299 It after selling a car. If he sold for Rs. 45,000 more, then

he gains. Find the cost price of the car.
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If the 4 digit number x27y Is exactly divisible by 9, then the least value of (X + y)
I
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The ratio of the length of the parallel sides of a trapezium is 3 : 2. The shortest
distance between them is 15 cm. If the area of the trapezium is 1350 sq. cm,

then find the difference of the lengths of the para ides.
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In a rhombus, the area and length of one of its diagonals are 56 cm? and 7 cm
respectively. Find the sum of the squares of both diagonals.
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If x + 1/x = V3 then find the value of x%° + x84 - x8 + x2 - 2.
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The simple and compound interest that can be earned in two years at the same
rate on a certain sum is Rs. 1,000 and Rs. 1,040 respectively. What is the rate
(percent per annum) of interest?
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The sum of any three gonsecutive natural numbers where first number is even
number is always divisible by?
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A person spends 90% of his income. If his income is increased by 40%, he

increases his expenditure by 30%. What is the percentage increase in his
saving?
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A shopkeeper normally makes a profit mf 20%)]in a certain transaction, he weight
900 grams instead of 1 Kg due to an error in weight machine. If he charges 20%
less what he normally charges, what is his actual profit or loss percentage?
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Two-person A and B are 830 km apart. A takes his bike and move towards B at
a speed of 80 km/hr and B takes his car and moves towards A at a speed of 100

km/hr.If A started at 11 am and B started 2 hours later. at what time they do
meet?
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P |
P sold a pillow toZ} at 20% profit and Q sold to S at 15% loss. If P sold it {o S at

the selling price of Q, then what is the profit% or loss% P would make?
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a) % profit
b) /o profit
C) /o 10SS

d ) o 0SS
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e total number of factors of '900".
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Each side of a rectangular field is diminished by 25%. By how much percent is
the area of the field diminished ?

Uh AdIHR Wd Dl YD Yoll 25% HH gl SIldl ¢ | Wd b &A% d H fbd- Uid=rd
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a) 75%
b) 2.6%
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d) r114%
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If V be the volume of a right circular cone, A be the area of the base and H be

its height, then the value of % IS

a)
b)
C)

d) one of the above
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A person sold two shirts each for 440 rupees. On one he gained 10% and on
the other he lost 60%. What is the overall profit or loss percentage?

U Afad &l [ H Y YD Dl 440 300 H dd | T TR 39 10% 1Y 3R GO R
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a) 1.33%
b) 33%
C) !.33%

d) 233%
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A shop-keeper marks an article, bought by him, at 25% above the cost price
and allows a discount of 20% while selling it. What percentage of profit he gets?
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